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QUESTION BOOKLET

Time allowed : | Hour 30 Minutes
Number of Questions - 100
FFull marks : 200

All questions carry equal marks.

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1

® N &

This booklet consists of 28 pages including this front page. Verify the page number of the
Question Booklet on each page. If there is any discrepancy, bring it to the notice of the
Invigilator. This Booklet contains questions in 2 languages i.e., English and Ben gali. In case
of any doubt/discrepancy in the translation into Bengali language, the Board will rely on the

English version.

Answers will have to be given in the Special Answer Sheet (OMR Answer Sheet) supplied
for the purpose, which consists of two pages. Do not tear or separate any page of the OMR
Answer Sheet.

Before you proceed to mark in the Special Answer Sheet in response to various items in the

Question Booklet, you have to fill in some particulars in the Special Answer Sheet. You must
also write the Question Booklet No. on the Attendance Roll. Do not fold the Special Answer

Sheet as this will result in error in your marks.

All questions have four probable answers (A), (B), (C) and (D). Find out which of the four
answers appears to you to be correct or the best. Now darken the oval corresponding to the
letter of the selected answer in the OMR Answer Sheet with Black Ball Point Pen issued by
WBPRB as per instructions sent along with the Admit Card.

If more than one oval is encoded for a particular answer, it will be treated as a wrone answer.
Vith of the allotted marks (i.e., 0.50) will be deducted for each wrong answer.
There are blank pages at the end of this booklet for Rough Work.

The Special OMR Answer Sheet (both pages intact) should be handed over to the
Invigilator beforeleaving the Examination Hall. Candidates are then permitted to leave
the hall with the Question Booklet. The Special Answer Sheet (OMR Answer Sheet) is
the property of the Board and must be returned to the Invigilator.,
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1. In which year Indian Citizenship Act was
passed?

(A) 1955
(B) 1957
(C) 1952
(D) 1958

2. Which of the following is notan example of
Living Fossil?
(A) Sea-urchins
(B) Limulas
(C) Sphenodon
(D) Coelakanth

3. Select the missing number from the given
TeSpONSes:

3| 2 2 | -1 6 | 5

4.024| | 2| 4 0| ?

A) 11
®) 0
© 1
(D) 30

4. Theterm ‘Yavanpriya’ mentionedinancient
Sanskrit texts denoted
(A) Dance performers
(B) Pepper
(C) Ivory
(D) Fine variety of muslin

5, By which constitutional amendment
fundamental duties have been incorporated into

Indian Constitution?
(A) 2
42

(C) 38
(D) 76

(3)

1. 7 e oS AeifFEY SR A
(A) 1955
(B) 1957
(C) 1952
(D) 1958

2. M5 I 2 FaE SACIF TAIZIA T ?
(A) M-wfbw
(B) fergemd
(C) CHECH
(D) (IEEITE

3. S Bafoe 2ies ZwE SR <1

 Po?
3|2 a1 6 | 5
4 | 24 2| 4 ol 2
(A) 11
(B) 0
©) 1
(D) 30

4, oifl AKgS A TW(AT IS S
RADTE RN TS
(A) FofRe
(B) colrF=fan
(C) fea e
(D) TeFB N WIF

5. OO MR WMCNEHT YW SiFery
HRYE Ao sl W I

(A) 92

(B) 42

(C) 38

(D) 76
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(4)
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6. Inacertain colde 253 means ‘books are ofd s

46 means ‘man is old’ and 378 means ‘buy good
bSoks’. What stands for ‘are’ in that code?

(A) 5
(B) 6
(2
(D) 4

7. The title given by British Government to
Mahatma Gandhi which he surrendered during the
non-cooperation movement was

(A) Bharat Ratna
\_(BY Kaiser-e-hind

(C) Frontier Gandhi

(D) Rai Bahadur

8. If the diagonal of a square is doubled, then
how much time will be its area?

(A) two times
B) four times
(C) three times
(D) same

9. Whichofth owing is not an example of
non~ﬂw
7 Pinus

(B) Algae
(C) Spirogyra
(D) Agaricus
10. Seven persons A; B, C, D, E, F and G are
standing in a straight line. ¢ ¢ &
D is to the right of G.
Cis between A and B,
E is between F and D.

w06 ¥

There are three persons between G and B.
Who is on the extreme left?

(A) A
B) G
(©) D KoY
(D) B p LY
C B
Q
vg%}’\v"

¢ N

6. 3T MeHE FBHfHTe 253 ME ‘books are
old’, 546 WA ‘man is old’ €32 378 Nt ‘buy good
books’ (& ‘are’- a7 (@ Jl 7T 2

(A) 5
(B) 6
(C) 2
(D) 4

7. G TR PGS 2 @ SonfafS sty s

(A) SIIeaY
(B) wizeig-a-Fw
(C) o sird
(D) AR
8. i «fb a5fewtas 5 vt 71 27, wra o=
(AT TS O g ?
(A) faaq
(B) vl
(C) Tomae
(D) «32 A

9. e R 9 S S Tz w312
(A) AR
(B) T
(C) ™Rzataiza
(D) Spshf

10. Jroew & A, B, C, D, E, F U G 430

FIRN TS sy |

D, G-93 ©iHfuts s |

C, A 9 B-F TR &ITg |

E, F €32 D-3 /I SIieg |

G R B-1 YRR o wfe =iz
a3y I @ wivw sz

(A) A
O ®G

© bk _ Q"C\

(D) B :

y & bﬁb@“

2
:

=

y -
g



11. Toder M%l was associated with
Law

(B) Literature
(&) sic
'(Finam:c

12. Which is the leaguﬂ'lmber that should be
added to 20585, so th_at’[ﬁe sum is exactly divisible

by 277 P -
724
(B) 27
©) 31
(D) 28

13. Two of the Mughal' emperors wrote their
own memoirs. They were

ur and Humayun

B
\/QB')/B::ur and Jahangir

14. Anirban Lahiri is associated with which
sports?
\(A) Golf
(B) Horse racing
(C) Chess
(D) Polo

15. Which number is in all the geometrical

figures?

(§5)

11. (Breasa NFa 7% 7@ (ot ? :@f

(A) @IiZe x/
(B) 11z . f},
(C) MoNe y i
(D) wefAfs N
12. 2055-93 A% (e Faes 720715 s FA0E,
@terwe 27 @l e ferey zea \qL,
27 b 5

B) /ﬂ %{ 1/7)\,
(C) 31 \2 =

(D) 28

13. IS GRIIeT 15 & <l ferciferere), ©f

e
(A) SR 8 ARET
(B) =W 8 TIRAIT
(C) I<E & WA
(D) qI99 @ TRHF

14, s RS @ CLeTT X L& 2

(A) T
(B) (RITTNE
(©) Wit
(D) ¢eAreeT

15. fce wififee Hrag e @ N1 5§73
forag S ?
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16. If difference between Compound Interest
and Simple Interest on a certain sum of money for
2 years @ 5%p.a.isRs. 122, find the sum of money.

(A) Rs. 48,800
(B) Rs. 15,000
(C) Rs. 14,000
(D) Rs. 16,000

17. A piece of paper is folded and cut as shown
below in the question figure. From the given answer
figures, indicate how it will appear when opened?

Question Figure:

o
» 00

el o
o
o]

Answer Figures:

(A)

(B)

(D)

18. Kala Ramchandran has been appointed as
first woman Police Commissioner of which city?
(A) Lucknow
(B) Gurugram
(C) Hyderabad
(D) Chennai

(6)

16. I @ GFH WANHCET 2 IT 5% YW

. Bapg R @ A R G 122 BIPl ), S0 Ao

AR 367
(A) 48,800 Bt
(B) 15,000 51t
(C) 14,000 Tt
(D) 16,000 Bt

17. G FoIE VST S (3 01 25 (TASII
GRIET Z@E o pps Babes | Mwa o
S N0 (IS ST TR T2 e AeHBE SRR

(e A 2
2P ot ¢

A) |

(B)

©)

(D)

18. wwmw g fze offer
e e e 2@ces ¢

(A) TR
(B) wwa™
©) ruRM
(D) ®alR



Ty X Y W=
g )‘% n? x M\
19. fA+B=C+Dand A+D>B +C, then
which of the ﬁollﬁving is definitely wrong?
(A B>D Ak
(B) A>C
() A>B
(D) C>D

20. Which country is regarded as ‘Land of
Midnight Sun’?
(A) Sweden
(B) Iceland
(C) Greenland

. Norway i
YA
NG

21. The profit afterselling a shirt for Rs. 863 is
same as the loss-incurred after selling the same
shirt for Rs. 631. What is the cost price of the shirt?

A) Rs. 747 %'\m
™

(B) Rs. 800 N4
/5

(C) Rs. 750 V

(D) Rs. 763

22. How many triangles are there in the figure?

AN

(A) 1
uﬁ/
(C) 24
(D) 20

O

b e

19

23. Who was the most eminent ruler of
Satvahana dynasty?
(A) Second Pulakeshin
(B) Jaggyokeshi
(C) Eirst Satkorni
) Goutomi Putra Satkorni

S

(7)

19. W A+B=C+D@3RRA+D>B
w73 Npa @l [fsesra g 2
(A) B>D
(B) A>C
(C) A>B
(D) C>D

20. e e @ (Land of Midnight Sun)
@i T T= 22
(A) 20T
(B) SNZES
(C) T=ene
(D) RS

21. 863 SilE Wb =6 [/fF s 7@ 7e =,
631 51y R wate B oo 51k =S 27 | =6ha
G PO?

(A) 747 51
(B) 800 GBIzl
(C) 750 BR=el
(D) 763 Bl

22. v Halee Fosf fgs w22

AN

(A) 14
(B)
(C)
(D)

v 19 19
= &£

23, HIwAiRd LA Y 36 (& e 2
(A) fadh sfeiced
(B) WA
(C) 2le e
(D) (Tre=g AT
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24. 14785358 — 4158 — 9514 =7
(A) 785
(B) 825
\_(€) 755
(D) 721

25. The treaty of Srirangapatnam was signed

between Tipu Sultan and
(A) Warren Hastings
(B) Cornwalis
(C) Robert Clive
(D) Dalhousie

26. What is the name of the sulphur naturally
found in nature?

(A) Gypsum
(B) Cynabar
(C) Brickstone
(D) Brimstone

27. The lines joining places with equal rainfall
are called

(A) Isorain
(B) Isoheil
(C) Contour Lines
(D) Isohyets

28. The smallest positive integer, which when
multiplied by 392 gives a perfect square, is
(A) 7
(B)
2
D) 5

(8)
_ 35841589514 ="
24. 14785 i

(A) 785 __'J;‘vﬂ '{;{E
(B) 825 e c2
(C) 755
(D) 721

25, SmeraeR A B FASH ¢ I g
FS A ?
(A) ST (2B
«B) FfenfaT

26. memmamﬂ?
(A) P
(B) T
(C) RFrom
(D) GO

27. @ TAHE @ @K AW T IBAE
TS FRele Fox 31 o7, oF A A2

(A) SREIEEA
(B) SRAIEA
(C) TR A
(D) SRGIRES

28, Haey qANgE PR [ F, W
392 BI9) @ IHE G0 o4efsf Je 2 |

(A) 7
(B) 3
(©) 2

(D) §




29. What will come in place of the “?* mark?

7| 4| s
8 | 7 | s
3 3 ?
29 19 31
A) 6
(®B) 4
©)
5

30. What is the name of the outermost
membrane of Axon?
(A) Synapse
(B) Axoplasm
(C)_Dendrite
) Neurolema

31. A statement is given followed by some
conclusions. Choose the conclusion which logically
follows from the given statement.

Statement: Mostdresses in that shop are expensive.
Conclusions: |
(A) Some dresses in that shop are
expensive.
(B) Handloom dresses in that shop are
cheap.
(C) There are no cheap dresses available

m that shop.
\LE)/"II'Iherc are cheap dresses also in that

shop.

32. Ricketsdisease is caused due to deficiency of
Vitamin D

(B) Vitamin B
(C) Vitamin A
(D) Vitamin C

(9)

29, =PI (2) T D A2

7 4 5
8 7 6
3 3 s
29 19 31

(A) 6

(B) 4

©) 3

D) 5

30. SRR LTS IRER IRFb7 7w e
(A) AT
(B) wuitsTEe™
(©) oTglRs
(D) S

31. T @3 <%y ¢ [z P ore =
A7 Toiz FSa T @i Lemrae Framel o=
T3 T

N ¢ ML QRIS AR wIf |
Frare

-]
-]

(A) CiRRIETa ey cotmeirs wify |
(B) (IR $1TS @1 CAmiReafer 31wt |

(C) MRFHS @I JS! (AR e
A
(D) CAIRPITA T8 (PIIRS 2INS T T |

32. @ o serEe FRet {Es @
e
(A) febifim-D
(B) fevifia-B
(C) fenifi-A
(D) fenifi-C
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33. Find the odd number pair.
(A) 10478
Mo
(C) 64 :48
(D) 80:60

34. Railway Staff College is located at
(A) Mussoorie
(B) Hyderabad
(C) Pune
(D) Vadodara

35. 12 men construct 15 km of road in 7 days.
28 men will construct 12 km of roads in how many

days?
I e
(A) 38ddys
Lﬁéﬁlys //;/5//'1?’4
(C) 20 days
(D) 28 days

36. Which one of the following is an example
of chemical change?

(A) Preparation of ice cubes from water
(B) Magnetization of soft iron

urning of paper
(D) Dissolution of cane sugar in water

37. Presentagesof AandBareintheratio5 : 6,
After seven years this ratiobecomes 6 : 7. Then the
present age of A in years is

(A) 32
(B) 30
©) 3

35

(10)

13, WW§W§@W|

(A) 104:78

B) 96:8¢ °

(C) 64:4 %
b

(D) 80: 60 =

34. G IF IS (1AM TAZS 2
(A) IO
(B) WRM
© =
(D) Stm=l

M, O,
35. 12 o & 1-5 [/ a0t 7 Fw oof2 F20e

AR | 28 & & 12 [ 718t T7© e tof Fa7 2

(A) 38 A
(B) 24 W=
(C) 20 fiw
(D) 28 e

36. B3NP D IR AfRTS T T 2
(A) & (A AT AP
(B) GIRIF Gradiwaq
(©) ated w==

(D) &= Bz wlge 287

37. A @R B-93 IENH WO S 5:61

7 AEH P G SEATSH 6:7-9 WG | A-97 ISAW

[ IO o5
(A) 3298 1/wx?5 ST
(B) 303=3a AR MA
RN
(©) 337 L

(D) 353wy



38. Which Union Ministry implements the
‘Pradhan Mantri Gram Sadak Yojana’ scheme?
(A) Ministry of Panchayati Raj
(B) Ministry of Road Transport and
Highways
(C) Ministry of Agriculture
(D) Ministry of Rural Development

39. 56% of Y is 182. What is the value of Y?
(A) 330
(B) 364
(C) 350
325

40. India imports- most of its crude oil from
which of the following countries?
(A) Iran

(B) Iraq
b (C) Ukraine 4
(D) USA _ ]

41. Which hormone controls the tr0p1c
movement in plants?
(A) Heteroauxin
(B) Gibberellin
(C) Cytokinin
(D) Auxin

42. Sunita rode her scooty northwards, then
turned left and moved some distance and then
again rode to her left 4 km. She found herself
exactly 2 km West of her starting point. How far
wards initially?

(B) 2km
(C) 6km
(D) 5km

(11)

38, (I @ET VIS ‘AR AN AT G
ol AT = ¢
(A) AN TH
(B) e A3z @ WY AGS G
(C) 3 W :
(D) AT TF

39, Y-&% 56% 182 T, Y—&MWW? “gl

(A) 330 i”' ,,7

(B) 364
(C) 350
(D) 325

40, SIFTIERERHRTST T2 @ o (e T4

SRR com iR e

(A) TR

(B) T
() X

(D) TR TEAG

ﬂ41. mmmmmW
| (A) BRI
(B) fewmwfom

| ((I(J:; W "\[g A

42, et oz FM e Sexfice sort o 29 |

TP (O AN TR @ YR (7 | 9391 WRIR
AL T @7 4 R 2t (o9 | T @ OIF 0T

W (T3 3% 2 R AT g T30, &7 v
Tarfite o oy P

(A) 4 Rf

(B) 2 ff¥

(€) 6%

(D) 5=

[Please Turn Over]



RB/SI_Sgt.(P)/21

43. What is the unit of electromotive force of a
cell?
(A) Dyne
(B) Volt
(C) Ampere
(D) Joule

44. A can complete a piece of work in 12 days.
- A and B together can complete the same piece of
work in 8 days. In how many days can B alone

complete the same piece of work?
(A) 28 days .
(B) 18 days
(C) 15 days
) 24 days

45. Which is the longest river of Asia?
(A) Yantze Kiang
(B) Huang he
(C) Mekong
(D) Tigris

46. From the givenalternative words, select the
word which can not be formed using the letters of
the given word:

CUMBERSOME

(A) SOBER

(B) ROME

(C) MOUSE
MERCY

47. Which of the following Emperor was known
as ‘Kunik’? '
(A) Ashoka
(B) Bindusar
(C) Bimbisar

(12)

43, (AT OGBS IETT G35 2
(A) ©iA
+(B) (S
(C) wuifPema
(D) &

44, AWIWIZWWWIAWBW
6% 137 315 8 AT TR A | B 30 7S fcey 1l

TG FACS A2 \
| (A) 28 fAe \/oo”:’/
" (B) 18 A %
(©) 15 %
(D) 24 Tt

45, afare Ao ww= A e
. (A) TR-F-RAER
(B) @I
C) =R
(D) BiRfaP

46. o= eafoa 3efae o e SaEkeai
Coff S @ A2

CUMBERSOME

(A) SOBER

(B) ROME

(C) MOUSE

(D) MERCY

41, RS s g A oo R
(A) STe '

(B) fpia
(C) ffe=

(D) Ajatasatru

o(D) e



48. Famous dance form ‘Salsa’ has been
originated in which country?

(A) Jamaica
(B) Portugal
(C) Spain
(D) Cuba

49. Select the missing number from the given

2825

) 18
(D) 17

Wy

A

50. Haematology : Blood : : Phycology : ?
(A) Fishes
(B) Algae
(C) Diseases
) Fungi

51. India’s national carrier, Air India, has been
officially handed over to

(A) Spicejet

\y&jgo Airlines
) The Tata Group

(D) Jet Airways

(13)

48, RIS TR HEFA'T T (I T 2
(A) GriE
(B) Coirgetmet
(C) ™=
(D) €

49. w2 Bare xR FHR Soge A

b

A) 12
B) 16 .
(C) 18
(D) 17

50. Haematology : Blood : : Phycology : ?
(A) Fishes
~(B) Algae
(C) Diseases
(D) Fungi

51, ©RRTOT WO ALy, w3
TR T WG I TAR?

(A) ™IZTen

(B) Bforen @iz
(C) Tibt b9

(D) (S% GRRACSTS
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(14)

S2. The driver of an ambulance sees a bus
moving in the same direction 40 meter ahead of
him. After 20 second, the bus is 60 meter behind.
If the speed of the ambulance is 30 km/hr, what is
the speed of the bus?

(A) 22 km/hr
\_(BY 12 km/hr
(C) 10 km/hr
(D) 15 km/hr

S3. The battle of Plassey was fought in
(A) 1787

(B) 17
\‘&'ﬂg?l

(D) 1780

N
d
",

(B) 408 m
(C) 374 m
(D) 814m
5. BB 1 .
- 7 of 3th of gth of a numberlls 2496,
What is 50% of that number?
(A) 3734
(B) 3794 3 Y
3744 \’\%
(D) 3749 xS
o A
O RY
[(12) x(14) ] (16})‘9 \,ﬁﬁ_‘ .
(A) 10425 "75),‘:2 ¥ «
! "
(B) 24 \ \W’ W
) 110-25
(D) 126 Y\

52, b WEE™ T 932 fats vent G
AT B AN 40 FlBH TAT (TTS #1131 20 s
R M oI (A 60 FOE Preew st am ) «f
wyrgreeta sfewet 30 Ref/0 2w, o Ty
S5 S ¢

(A) 22 Rfii/25
(B) 12 Rfi/a!
(©) 10 Rfi/a%!
(D) 15 f¥fi/abt

w~ '
-

53, SR T& T AN AR ?
(A) 1787
(B) 1766
(C) 1757
(D) 1780

54. G ASCHFAIPIT I (7 € ATFA Sepoife

- 6:5 1AM ETDR 2 (e (U 34 Mo w29, o

SRR SRty ARHAm T vl

' (A) 748 RoR > 3
(B) 408 o
(C) 374"
D) 814 o

55. <3 e L aqg g-erq- A 2496 T,

MDA 50% T g %

(A) 3734 qt\f\b b fz)n
(B) 3794 @47,/ %
(C) 3744 A
(D) 3749 /q‘,(vx

L: 7

56 (12 x(14 ]+ (162 =2
(A) 10425
(B) 28224
(©) 11025
(D) 126



(15)
57. Kushan Em

. peror Kanishka has been e
tl‘ansfonned into Buddhism fl‘om Whom? 57. m m @ﬁﬁ JIT FIR mqﬁ
(A) Vishnugope e
(B) Aswaghosh (A) Rzttt
(C) Agrasen (B) raTara s Y 9
(D) Birupaksha (C) e Y dz\b )\\vc\ |
(D) Remotrss Y\ v (S
oG Nes k-
~ G A VAV A 5 A
3™
58. If order of the English alphabet is reversed 58. T e AT Z (IF A G2 F
starting from Z to A, which will be the eighthletter | fRefiweird T4 &, O ‘0’47 TS B FH
(A) A) W
8 (B) G
© F (©) F
D) Vv D) V
59. B. C. Roy award is given in the field of 59. R F1. 1 s7=iw ol et crem
(A) Environment (A) A=
e (B) st
i o (©) s
. Medicine D) ffve
60. The description of Samudragup'ta"s war 60, ALY ToowH R @W =
campaigns are found from which inscription or GO ] T e
‘Prashasti’? | (A) TR ey
(A) Mghishwar Prashasti (B) IR =iy
Allahabad Prashasti (©) R ey
(C) Nasik Prashasti . (D) ZRCE 2l
(D) Harishen Prashasti
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61. If a mirror is placed on the line MN then
which of the answer figures is the rightimage of the
given figure?

Question Figure:

—
.

Answer Figures:

(A)

(B)

©

62. A train, 100 meter long, moving at a speed
of 50 km/hr crosses a train 120 meter long coming
from opposite direction in 6 second. The speed of

the second train is
(A) m/hr
82 km/hr

(C) 60 km/hr
(D) 70 km/hr

(16)

61. Tfi MN 1 FAIRT G316 ST 471 2, g
e wiftre Bz A% afelRe @Rl ==

=
'
© %
(D)
™ .
A

4 s

62. 50 ff/<5t sifemat ssim 100 fivr A
43T G RIS W (e ot 120 fide A9 @l
G 6 TS STy 37 | ol a7 sfer
IT?

(A) 74 /<5
(B) 82 ff/9<%t
(C) 60 ffr/<%t
(D) 70 =f/g5t



(17)

63. Indiahaslatinched which operation to bring
back its natiofials from Ukraine?

Operation Ganga
(B) Operation Yamuna
(C) Operation Bharat
(D) Operation Saraswati

64. You come to know that your boss is writing
a false report to the highest authority. What would
you do?
(A) Ignore and keep quiet.
(B) Discuss with your colleagues and then
take step jointly.
(C) Meet your boss and directly protest
against his actions.
Somehow report the incident to all.

65. (—251x21x-12)+?=15813. Find the

value of ‘?°.

400

(©) 250
(D) 300

66. Which scientist among the names given
below is associated with the discovery of the
radioactive element ‘Radium’?

(A) Michael Faraday
(B) Albert Einstein

(C) Issat Newton
\xﬂ'ﬁ:;e Curie
67. In a certain code ‘MOUSE’ is written as
‘PRUQC’. How is ‘SHIFT’ written in that code?

(A) VJIDR
(B) VIKRD
(©) R

63. SIS TR TOTEH (2 Siaediine R
ST T (@ AT SaAIvRe, O 71N 257

(A) ST o1t
(B) ICzIe Tt
(C) T SITe
(D) STz )

64, T G FATS AN @ (ST Terfom worm
Twon 6o o3 ey Rt foes, oft &
AR

(A) Tro! IAR 6 MY UFA |

(B) ST FEINGRA X SAGA I
SRR AFATSSIE 2T 22 F97 |

(C) Tox e 0 0731 I3 TR o7

- IeEd eI I |

(D) ARIASI WA AT T&d A
Rl

65. mﬁmﬁamﬁaﬁzw:

~(C) 250
(D) 300

66. (T ‘@AY wRww fee =
R AN @ fee 2

(A) TR MG

(B) UG 3513

(C) =iRurs fAo

(D) & FA

67. @3 Ao f@fore ‘MOUSE’ &
‘PRUQC’ | ‘SHIFT"-43 T3 A I ?

(A) VIIDR A0V 5‘%
(B) VIKRD ¢ s
(C) RKIVD B )

(D) VKIDR VKT 9 &

VKIDR
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68. Which British Governor introduced

68, (IR G e A TCATE SEET

‘Panchshala Bandobast’? FAAT
(A) Welesley (A) el
(B) Warren Hastings (B) S &fFo &j}, -
(C) Comwalish (©) FHaTIF /?
(D) Willium Bentinck D) e @% | .\\rx.
4
69. The largest country of the world by 69. TSR DIE] q?ﬁaqmm?zﬂ
geographical area is (A) b 15210
(A) Vatican City B) 30|
ussia Q(’X
(D) Australia = (D) wEF " e ¢ 5
ot Ter N X
70. 3148877 =" f\}“] 00\ {34 | 70. 3148877 =" 720\ .
(A) 43 N / (A) 43 v
N 1 N\
(®) 73 N1 (B) 73 % o
N\ 90?0 : !.7 -7<\7 5 .
\P733 e (D) 53 LR 7§
BG

71. The land form ‘Bajada’ is found in which
region? K
(A) Mountain Peak areas
(B) Plainland '
(C) Plateau region
(D) Desert region

72. Select a figure from amongst the answer
figures which will continue the same series as
established by the five problem figures.

Problem figures:
]
¢ J|(C

~

3 )

C

p—g

¥ |
Answer Figures:

)

¢

M

71, ‘FEm’ e gRwel W wwrE s
NG MW ¢
(A) *Hen fe Sere
(B) FANSGHICS
(C) NGR weza

(D) ¥ T

72, O T 51 By (e witm | A= Bl

oA A A 2w et #iefd B ARz oz
- Foasmet T =t )

2 Haaf ¢
COC ORI e
) C I | W€ |wiw | wina
ARy TR Barfr s
¢ ¢ (u((uc\
MY | TN D Sl lVia)
(A) (B) ©) (D) :
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73. Therearethree statements followed by three
conclusions. Which of the conclusions logically
follows from the given statements?

Statements: All dolls are windows. All bottles are
windows. All cars are bottles,

Conclusions:
I. All cars are windows.\"
™ 1. Some cars are dolls.
III. Some windows are cars. \/
& (A) Al follow.

(B) Only II and III follow.

(C) Only I and II follow.
v ) Only I and III follow.

74. Caracas is the capital of which country?
(A) Equador
(B) Venezuela
(C) Philippines
(D) Peru

75. ldentify the diagram that best represents
the relationship among the classes given below:

Animals, Land animals, Sea animals

A) @
® (O

© Q0D

73, N5 A 3 @ o Frgrw orex sz

@/ @R Paee amam Aroes Az
e

7T 8 G SJGAL GIAA | 7 (AN Gfe(171] | HaTE

oMY carem | \A/‘
)
I 97 SR Siae | Q‘})
11. fig 1% ge| /@
111, g wie sifde |
(A) FI3MH oz = T |
(B) u{nmmmwm

(C) ©Y 1« II 2% 31 A7 |
(D) ©NIE I 938 I 22 321 37 |

74. TP @ oifda qrSH 2
(A) TFEes
(B) CoTTEEeEl
(C) Tfefem
(D) ¢t

75. @ HabaaR Mod el AR
o Ifrer SegRaa I I W2
o, A fAFRIRAIA o, we Roare oo

(A)
(©)
LIGED
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76. Who is the author of ‘The Republic’?
(A) Homer
(B) Aristotle
(C) Socrates
(D) Plato

77. Who is the inventor of Barometer?
(A) A__midiﬁ'ﬂvogadm
\_(BY Torricelli
(C) Pristle
(D) Alexander Graham Bell

78. Select the missing number from the given

—
) ® @

%
@
b
(A) 97 \Od\
(B) 07
) 1097
(D) 907

79. Which ci
India’?

s known as ‘Electronic city of

Bengaluru
(B) Hyderabad
(C) Mumbai
(D) Gurugram

(20)

76, 7 RPN 0 TR (72
(A) R

(B) I
(C) G
(D) C#H!

77. JAMOIF-G wifeEsl (F?
(A) Suififoe SriTerigl
(B) SRTEI
(C) f2roe
(D) SIEREIDR AR (3

8. e Hafbre 2L T Sorge 71

IS? :
(A) 97
(B) 9107
(©) 1097
(D) 907

79, (I ¥IZH SIS ARG A AR !
(A) g
(B) wmwtam
(C) Wi}
(D) owaN
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80. If the numerator of a fraction is increased 80. (I G SARPIT TTE 200% IR [

by 200% and the denominator of the fraction is 120% 3% 39T Sl 23 1_41_ by W e
increased by 120%, the resultant fraction becomes

6 )
i‘il.Whatis the original fraction? A) 5 0P r/\%g\f%f?
" 3 i~ P 12
(A) 11 (B) 1 \,\‘P
4
4 5
) 5 (D) 7l
5
(D) 7

81. From which of the following sectors, India 81, M (WAl (U SRS A (2 LA

earns most of its foreign currency? I e
(APp&tcs (A st
\_B) Tea o
(C) Jute ¢
(D) Tobadeo © =i Vo4
(D) Sz Jﬂﬁ
82. Sir Thomas Roe came to which Mughal 82. I BI @ @ @I BT ST
Emperor’s court? S ? m
Wh (A) WeETER VN e Y
Jahangir (B) wizR v 4
(C) Akbar (©) R
(D) Shahjahan D) T

; ile phones is 83. 806 (R IR o1 I 30,000 B | T
83. The average price of 80 mobxle' p ; o -
Rs.30,000. If the highest and lowest price mobile e ;% TRTE o Wﬁr = 2§c§§§ Bt
Phones are sold out, then the average l:):)lc?l‘]?: Wﬁf;‘?ﬁ@ﬁﬁﬂ mm‘]ﬁso-@m@’
femaining 78 mobile phones is Rs. 29,500. 7R LT I W (AR @i i wo e

Cost of the hi ghest pl-jce mobile is Rs, 80,000 The " ﬁ‘fﬂ RSA—
08t of lowest price mobile is (B) 15,000 Br
(A) Can’t be determined (C) 18,000 Braet

(B) Rs. 15,000 (D) 19,000 3R
(C) Rs. 18;
HE’R/S.Z(?EE/

- e
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84. In clertain years a sum of money is doubled
itself at 6 E% simple interest per annum, then the
required time will be

(A) 8 years

B) 102 year:
16 years

(D) 12% years

85. The figure given on the left hand side is
folded to form a box. Which boxes can be formed
from the options (1), (2). (3) and 4)?

Eﬂ@i@

| 1n @ 3) “@

—

(A) 2and 3 only
(B) 1,3 and 4 only
(C) 2 and 4 only
(D) 1 and 4 only

86. 10% discount and then 20% discount in
succession is equivalent to total discount of
(A) 249
28%
(C) 30%
(D) 15%

84, G o S I b i
65% s e el 20, B TR TG T e

(A) 8I&H (2 PEPR
o
(B) 10%@%?4 ﬁ“’
25
(C) 163
1
(D) 125 T

85. a‘tﬁwmﬁaﬁmmmmww
g TR F I (1), (), (3) G3R (4)-43 G
mﬂ@ﬂﬂmzﬁﬁ@wm?

o uim

1 @

(A) 29% 3
B) 1,39R4
(C) 24 4
(D) 19k 4

10 -~ AN 11—

-—

86, BoRPIR 10% @R 20% R (NGA T T
WO RS ?

(A) 24%
(B) 28%
(©) 30%
(D) 15%



87. The most arid place on the earth is situated

in which Continent?
- (A) So merica
Africa

(C) Asia @
(D) Australia

88. Pointing towards Rita, Nikhil said, “I am
the only son of her mother’s spn”. How is Rita
related to Nikhil? '

(A) Cousin
" Aunt

(D) Mother

89. Who is the author of “The Soul of India’?
(A) Satish Chandra Samanta
(B) Bipin Chandra Pal
(C) Rishi Aurobindo
(D) Umesh Chandra Bandopadhyay

90. Find the sum of first 30 natural numt?ers.
(A) 463 2o
(B) 468
(C) 470
465

91. Who is the director of famous movie
‘Rashoman’? ' :
(A) Antonioni
(B) Andrei Tarkovski
(C) Cristoph Kisloski -

(D) Akira Kurosawa

=
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87, o|fif7 wwey gal i vQoTT TRES?
(A) R SR
(B) wifzss!
(C) «fmt
(D) SegfEm

88. Motz fice e e 7o, ‘@i 63 M
T G e | et e & =@
(A) QrorelR/@M
(B) wifE/ e
(C) it
(D) =

89. “®fEred Sl (The Soul of India) sgiva
WS 2 :
(A) TS ANE
(B) R o AT
(C) A o™
(D) TTMIbE ICHIAGTE

90, @2 30f6 wIde AR (Natural number)

T IO ? ¢ \r\\
(A) 463 \% 4 Q)
(B) 468
(©) 470
(D) 465

91, RIS 5wihd IR -4 ARBIETS T2
(A) wrefRef
(B) wtee Oidrei®
(C) oo R
(D) S FERMNeT
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92. Who is the present speaker of Lok Sabha?
(A) Biman Banerjee
) Om Birla
(C) Meera Kumar
(D) Venkaiya Naidu

93. Divide 81 into three parts so that % of Ist,
% of 2nd and % of 3rd are equal.

\
(A) 530, 27,24
(B) 27, 18,30

(C) 36,2
18, 27, 36

q 9

94. The famous painting named ‘Damayanti’ is

creation of which famous painter?
(A) Rabindranath Tagore
(B) Nandalal Bose
(©) Abanindranath Tagore
(D) Raja Ravi Barma

95. Which of the tworatios 17 : 18and 10 : 11is

\"’U%
=

(C) 1978
(D) 1996

(24)

92. (IS ISR AP (F?
(A) Tiw FpiarE
(B) 6 gl
(C) et T
(D) (ST 7RY

93, 81-(3 @« fEFeIs % FAl ACS AL
e & e, s L et e g8 o
3 et S ‘

(A) 30,27, 24
(B) 27, 18, 30
©) 36,26, 18
D) 18, 27,36

04, ) A< Bafd o Rt R oy
(A) AL ST ‘
(B) eTlet 35
(C) SR ST
D) e 7R =

95, 17:18 @32 10 : 11, @2 Y6 SATST I
@I JReT?

(A) e a1 stgT 77|

(B) 10: 11

(C) 17:18

(D) HbR 0 |

96. IS AT SIASH FRUNE Al TAE
SEYE I W
(A) 1990
(B) 1992
(C) 1978
(D) 1996



| 97. 72? ml of a mixture contains milk and water
in the ratio 7 : 2. How much more water is to be
added to get a new mixture containing milk and

waterin theratio7:3? _—
(A) 52
81 ml

(C) 60 ml
(D) 71 ml

98. Which is the capital of Meghalaya?
(A) Kohima
(B) Imphal
\AC) Shillong
(D) Aizol

99. If + = X, — = +, X =+, + = —, then which is
the correct equation out of the following?
(A) 18x6—-4+7x8=47
(B) 18+6+4-2+3=22

(©) 18+ 74xT+3=26

(D) 18-6x7+2+8=63

100. Full form of RNA is
(A) Rare Nucleic Acid

(B) R Nuclear Activity
\J_Qj/Riﬁ::l:fcleic Acid

(D) Random Nuclear Acid

(25)

o\
97. 729 fifer 43f% iRz 7y @ wrEm oite 7:21
we ST w1 P wga et 71 6 weE
LS

S 7:3 AL ) T
(A) 52 faf?r S g
+(B) 81 {W@%ﬁ/
(C) 60 faifa gW i
(D) 71 faf#r v A
r IR

98, (IEIFGE AT AN I
(A) cifEa
(B) T4
(C) fRewe
(D) wiReE

99, I +=x,—=+,X=+,+=— 3, O C31&
(D @0 FOF TN 2
(A) 18%6-4%7x8=47
B) 18+ 654-2+3=22
(C) 18+6-4x2+3=26
(D) 18-6x7+2+8=63

100. RNA-F 37~ Feif Fe
(A) @R ek wike
(B) Rt FERmR wwebfeh
(€) IREFSHs e
(D) Wi ek e




